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WS 11.2-3 Balancing Nuclear Fission Equations
. b0, 33U; '%Ba, 3K, 26n; 35U + in — '@Ba + 3iKr +
Znn, 235 + 1 = 236; 143 + 91 + 2 = 236; The total
number of protons and neutrons is conserved.
92 + 0 = 92; 56 + 36 + 0 = 92; The total number of
protons is conserved.

2. dn, 9B; ILi, 4Hes '9B + dn— ILi + $Hes

10 + 1 = 1157 + 4 = 11; The total number of protons
and neutrons is conserved. 5 + 0 = 5;3 + 2 = 5; The
total number of protons is conserved.
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WS 11.5-3 Balancing Nuclear Fusion Equations

1. 3He, $He; 1Be; 3He + SHe — iBe; 3 + 4 = 7;
The total number of protons and neutrons is conserved.
2 + 2 = 4; The total number of protons is conserved.

2.3H, iH; 4Hes bn; 3H + 3H— 4He + ins 2+ 3 = 5
4 + 1 = 5; The total number of protons and neutrons is
conserved. 1 + 1= 2;2 + 0 = 2; The total number of
protons is conserved.

3. 23He; 1He, 2{H; 23He — tHe + 2{H; 3 + 3 = 6;
4 + 2 = 6; The total number of protons and neutrons is
conserved. 2 + 2 = 4; 2 + 2 = 4; The total number of
protons is conserved.




